
MTH 133, Section 61 Quiz 7 October 24th, 2017

Name: ID:

Clear your desk of everything except pens, pencils and erasers. Show all work clearly and in order. No
notes, phones and calculators. You have 10 minutes to finish these TWO problems for 10 points.
Formula Sheet.

• nth term test for divergence: If limn→∞ an does not exist or if limn→∞ an 6= 0, then the series
∑∞

n=1 an
is divergent.

• The p-series:
∑∞

n=1
1
np is convergent if p > 1 and divergent if p ≤ 1.

• Geometric: If |r| < 1, then
∑∞

n=0 ar
n = a

1−r

1. (6 points) Determine whether the following SERIES is convergent or divergent, state the reason (test).

•
∞∑
n=1

2n + 1

3n + 2

•
∞∑
n=1

3
√
n

n2

•
∞∑
n=0

(−3

2
)n
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2. (4 points) Find the sum of the series
∞∑
n=0

3− 2n

7n

/ 10
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